DNX9280BT

EXPLODED VIEW (DVD MECHANISM)

A M1.7x2 : N09-6815-05
B ¢1.7x4 : N09-6408-15
C M2x2 :NO09-6426-15
D ¢2x10 : N09-6104-05

2

3
Inscriptions ©
(register marks) g
on gears — —
Align 6 marks as o
shown in the —
figure

Drive gear 5 Drive gear 4C

Parts with the exploded numbers larger than 700 are not supplied. 83



DNX9280BT

EXPLODED VIEW (UNIT)

DWW LWLWLWLW
TR 9
NWODOT— M
AN QN OO OO O
NS S S
COLOOO®
DD D DD
lefeRoloNoRoRe)
Z2Z2Z2ZZ2Z22Z22
<OO0OWwao

-05

: N09-6825
1 N19-2332-

]

04

: N82-2005-48
: N09-6864-05
: N35-2004-48
: N10-2030-43

R
S
T
X

1

z

Parts with the exploded numbers larger than 700 are not supplied.

AB : N35-2604-43
FC1

AA : N09-6731-05

84



DNX9280BT

EXPLODED VIEW (PANEL ASSY)

259x6 259x4

SIZE AAA BATTERY
(NOT SUPPLIED)

: N09-6489-05
: N19-2332-04
: N82-2005-48
: N09-6823-05
: N35-2003-48
: N82-2006-43

sS<cunwbO

337

Parts with the exploded numbers larger than 700 are not supplied. 85



DNX9280BT

EXPLODED VIEW (CHASSIS ASSY)

M2x2.5
M1.7x3.7
M2x2.5
M2x3.5
M2x2.5
22x2
M2.6x4
WASHER

<ZZIrXCITO

: N09-6361-05
: N09-6363-05
: N09-6375-05
: N09-6376-05
: N09-6377-05
: N09-6378-05
: N09-6379-05
:N19-2321-04

86

Parts with the exploded numbers larger than 700 are not supplied.





